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**Mathematics is the Queen of Sciences and Arithmetic is the Queen

of Mathematics. — GAUSS %

5.1 widilas

SUURL SHIUGL HIRBLML 25 e i [gaAd v AHLSW0UAL dal s A4

N

[Zelld AHLSW0AL B3l A0 sUL. 28 Ay & AW x2+ 1 =0«

)

NS

alkdfds 65d Al 51201 5 X2+ 1 =0ed 5 x2=—1494 & 24 515 uBl
aidlds Avaidl aol el wd AR, 2], 2wl x? = — 1 alsedl 634
qadl asly dal [gd ol dalzdlds Avdiaeidl [@dl s2el ud. sl
il 9124 5 o D =52— 4ac <0 <™, dl [Zeld AHsWL ax?+ bx + ¢ =0

~

A4 alfds Bid el WIUR BUUBLL HuU BE A vidl Usl-l AHsWIAL B34

W. R. Hamilton
qoddl-l ¢9. (1805-1865)

5.2 s Avalil
N N s e N s N .2 S (G Y ) _ ~
uaH AR A1 A ASdHL 7 ad eldlal, UM, T =-1 Ald, ALl AL 2w 5 s 2+ 1 =0 L
CENCEENEICS

a, b e RS ddl Aval g + ib A A5 AvAl (complex number) 4315 AlvAIRd sAML 1Ld €9,
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GelgRl d5, 2+ i3, (- 1)+ if3. 4+i(__1j L A5 AvAAL 9,
11

A5 AL Z=g + ib Ul a A Z+l lds AL (real part) 58 ©. A1 d3dHl Re zad salaly 8. b

Z -\l sleulsis 9L (imaginary part) 5& 9. A1 A3dul Im Zz43 saldld 8. Gelewl dl3, % z=2 +i5, dl

RezZ=24 Imz=5.

AN

¥l ol A5 AN Z, = a +ib U Z,=c+id A4 Eld,dla=cddl b =d.
Belg0l 19 dldlas Avalpdl x dal y 2 4x + iBx —y) =3 + i (= 6), dl x 24 p <l [Bud Kl
Bse: el dx+i(Bx—y)=3+i(-6) (1)
axls28l (1) - dldlds Mol dul steulHs oo qvilddl,
4x=3,3x—y=-06

N 33
WA y=—o1.

o+, uls2welA Badi, x= i

5w

5.3 s Availg olloaldig
UL (AL 2B 2452 Ava1il Ul 605 il 2l s
5.3.1 6L Us AvAAUAL UAWU
ML S Z =a+ib ¥ Z)=c+id 6l A5 AvAL . dHHl AU Z, + Z, {12 YHISL Avahd gin ¢
Z +z,=(a+c)+i(b+d) 2d 2 qAUUT URGUH Y8 A5 A5 AL 6.
Gelexrl a3, R+ B)+(—6+i5)=2-6)+i(3+5)=—4+i8.
A5 AvALDAAL AL {12 WHIRLAL ARIEHLE Ul 53 € ¢
(i) AdTidL: ol 452 AL AALDL A5 AvaL g, Hed §, %z, 2 Z, 51 Ul 6 2452 AL 1,
dl z, + Z, %l uBL 252 vl sl
(i) sHUL [Ra: 515 usL ol A5 AV Z 2 Z) R, Z, + 2, = Z,+ 2,
(iii) Al [Run: 518 umL o 2052 Avail z, 2, Z W2, (2, +2) + 2, = Z, + (2, + Z)).
(iv) URAN WL d2 B2sd WIaed: 215 452 vl 0+ i 0 (-1l A3 0 &) 2id] 44 & 3 F+il U5
S AL Z + 0= Z. 2l A5 AL 0 - HRAU HISH] A2 U2s AUl () 452 AHVAL 56 £,
(V) AAU ML A B2s wded: g35 @52 Avyiz =g +ib HIE A5 Avdl—a +i(-b)
(—z a3 eulary &) AN HIS] dad s Hadl Z 4l [GR14] 4cs 5E 6. i1yl A As1x 91

37+ (=2) = 0 (AU WS+l d234).
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5.3.2 6L A5 AU dsldd : YIRS Z, A Z, 0l A2 Avalll O, dusl dgldd z, — z,) 13 wael

1 1

SIEI DRIETURE
z,-2,=2 +(-2).
Belewl dls,  (6+3i)—(2—i) =(6+3i)+(—=2+i)=4+4i

N

2 Q- i) —(6+3)=Q2—-i)+(—6-3i)=—4—4i
5.3.3 6L s AvARAL ARUSIR HIA 3 Z = a + ib A Z,= ¢ + id O AR Al B, du-l dRusR
Z, z, <A uHel epvdRid ad 9

z,z,= (ac — bd) + i(ad + bc)

Gels2el a5, (3 +i5) (2 +i6)=(3 x2—=5x 6) +i(3 x 6+ 5 x 2) =—24 + i28.

NaN N

252 AvuiiiAl deusiz 1A uuiel apeiasl qad 8, dud 20Ul ABidl L g ikl

Noa Y

(i) Adridl : 6l A5 AvAAAL ARSI A5 Aval Ad, Hed 5, % Z i Z) 516 uslL As2 AvaAil
Sl dl Z, Z, 2 uBL A5 vl Ul
(i) sH-l [au: siSun 6 s vzl z w4 2 Me, 2, 2,= 2, 2,
(i) gl [Ran: siSust sel s dvazl 2, 2, 2 M2, (2,2) Z,= 2, (2, Z).
(iv) ARUSIR M2l d22e B2 s e 1205 452 Al =1+ 0 (3 43d 1 &) »ifzdea 42d 8. el ucds
A5 Avdlz WS, Z -1 = Z. 21 452 AvaL | A QRUSIR HISHl a2 425 56 8.
(v) OLBUSIR HIGAL URd Hasd AR £35 9 ddR ¥52 Avdl z=a+ib 5 a+bhi(a#0,b#0)

i (27 1 299127 q3 salqid ¢9) 44, 4l 2 Lo, waise
+b? a’+b? z ’ A

20U, A5 Al "
. 1 b S\ A A b
vl — Al Z ol YUsIR il i 4es 56 8.

(vi) [acua-l [Ruu: 516 ust st s vl z, 2, 2, M2,
(@) z,(z,+z)=22,+27Z,

(b) (z,+z)z,=2z2z,+2 2,

N N A

5.3.4 6L A5 AvALAAL CUOULSIR: HIZL S Z UrddR Gl ddl 6L A5 vzl Z 24 28, daHl MousiR

2] ~ ~ N
Y 1A WML e Ad w69
2

Z] _ 1
2 2

Gelerl ddls, z =6+3iuA Z=2-iHLe,

2 x| _ (6+3i L )
% ((6+3I)X2—ij_( G oy
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S

s qReL 11

- (6+3i)(%) - %[12—3+i(6+6):| =§(9+12i),

535 i-lAud

U8l ARl ¢Sl 5,

P =i%i=(-1)i=—i, i4=(i2)2=(—1)2=1,

1 —X=—=—=—1, 1 =—=—=—1,
e, i -l 2 -1
_3_l:i>(£:£:i, 1_4:i:1:1
io=-ioi 1 it 1

aus Ad, 515 wel yells k Hie, 4= 1, At 1= 4kt 2= ) 4kt g

5.3.6 BR ARAlAS vl Ay
Bl Al 5 =1 dal (- i) =it=— 1

212, — 1 Al QOLHO 7 el — i 4l dH 9l Ad3d 2] 2 5/ YUAd.

od, 2U8L AS AT Wlal 5 7oA —j ol AH15WL x2 + 1 = 0 Al x2=—1 -l G3e 43,

ad o i, (\/§i)2=(\/§)2 2=3(1)=-3
(0] - (6]
—3 A4l a2MuL \f3 § dUl —+/3; 2dl.

qull, A3d 23 ¥ /3 yuadl.

2wed 5, 23 = 3i.

A1us Id %l g 1S U dRdls qval S dl, =g = JaN=1 =Jai.

1uBl 20UG el Sl 5, £35 U dRdlds Avdl a, b WS Jaxb = Jab A4 A a>0,b<0

§AAl @ <0, b >0 14 AR UBL 2L uRRUM uld- A 8. o @< 0,5 <0 S, dl 9 24 ?

Bl il 5,

P=J=IN=1=J(-1) (-1) = V1 = 1. (85 uat ardlRis vl @ 2144 b W2 Jgxb = Jab ®

dx Hdl ddi)

L uRaeM 12 =1 «fl Acuddi-l Qs 8.
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ol AVADAL @ i b oisl 28R dRA[LS S dl g x/b £ Jab -

aoll, %l a i b il oH d s e €l dL R D 5 g x+fb =~Jab = 0 WA,
5.3.7 RauHl

2Rl ~{la (R auloid s34

SUSUBL A2 AV z WA 2 M2, (742, =22+ 22 +222,.

Alordl : nel, (z,+2)2= (2, + 2) (2, + 2,)

= (2, +2) 2z, + (2, +2) 2, ([eug-i-l [Rax)
= 72 2 N

22 42,2 + 2,2, + 23 (laciog=tAl [HuH)
= 24 zz,+zz2,+23 (GLRust e -l [Ruw)

= 212 +2z2, + zg.
d o Fd 2usl 12 wHeiAL My AUBd 530 aslal :
() (52, =2 —222,+23
(i) (z+2z, )3 = 213 + 321222 + 32125 + zg
(ii) (z1 -z, )3 = 213 - 321222 + 3zlz§ — zg
(V) - =(5+5)(5-2)
VIR, % ARAS AVURLL HIZ A S1A ddl HRLeHL [FetaMl A5 Avulpil Hie usl ALbid 531 asi.

Belganl 2 ¢ A{ladl A5 Avuld g+ bi AZUHD sldl

@ (—51')@1'} (i) (-i)(20) (—%if

8x8x8 256 256

3
i (@01 = 20 = el =5kt

BEI8RWL 3 : (5 —3i)* a + ib ¥3UHI sl

G54 : Al (5-3ip = 53-3x52x(3i)+3 x5@3i)?-@3i

125 — 225i—135+27i =—10—198i.

GewseL 4 :(—x/§ +/-2 )(Zx@ —i ) A4 a + ib AZuHl saldl.



104 o : qreL 11

Gra: ad,  (—VB3+4-2)(23-i) = (—B3+42i)(243-i)

—6+3i+26i =22 = (—6+\/§)+\/§(1+2\/§)i

5.4 52 Aval-l HIAs dal viAeLg As2 AvAl

-~

QUL 5 z = a + ib ¥ AS WAL O, el ARA[s AvAL g2 41 p2 A z A WS (modulus) 45

AL s 2d O, dA ASdH |z | a3 salaaqiml 2Ud 9. U, [z | = f,24p2 . AR Av™l a— b

~

W z Al 2Agolg A5 AvAL (conjugate) V. A A5dHl 7 43 saldaldl d 9, HH, 7 =a— ib.
Gersal dils, | 3+i |=~/32+12 =10, |2-5i|=y22+ (=52 =29,

21t 37i=3—i. 2-5i=245i. 31-5=3i-5

N N .

2AUBL AU WS § AR A5 AL Z <AL ARUSIR Al 2

(=N

1 a iy —b a—ib z
a+ib  a*+b>  a®+b*  a’+b? |Z|2

Z*l =

. z?=|z|2

Qi (Al uReel wdensSel dirdl asia.

SIS WGl 6L s ALz 2z, HIE,

. N E N
(@) |Zl Zz|:|zl||zz| (if) z, |Zz| (| Zz|¢0)
(i) zz,=2 2, (V) ztz,=2,%2,(V) (%J:éL (z,# 0).

GELSL 5 1 2 — 34 Il ARSI Hiell @t 2L

G54 : WALz =2-3i
aell 7 =243 v |z [P =224(-3)2=13
© 2= 3 L ALRUSIR HieHl @4d

T 2432 3.

EENERRNE 13

z1 =

[N

GuR ual{l aRidR] «{lal Ad waL Y- Hadl asy

1 243
2-3i (2-3i)(2+30)

Z—l =

2+3i  2+3i 2 3.

222G 13 13 13
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Belgul 6 : {2l A5 AvulA g + ib ¥3uHL el :
542 -
Ol NG (i) 7

G 3 o] 5+\/§i_5+\/§ix1+\/§i
B Y PR BN - PRAF W

_5+5v2i++2i-2
1—(\/51')2

3+4642i
1+2

_3(1+2420)
3

— 1+22i

ALY,

5.1

{13 >0la weet 1 ¢l 10 Ml e3s A5 AvaA g + ib 2@3uHl saldl.

[
~

.9+l.19 3.

N (51-)(—%1-)

4. 3(T+iT)+i(T+i7)

| .5
6. |=ti=|-|4+i=
5 5 2

1 3
8. (1—iy 9. §+3i] 10.

9]

C (=)= (~1 +i6)

3
I/
W | =
+

W
~
+
A/
N

+

[SSRE
—
|

|

| &~
+
~

U ot 11 ol 13 1 e2s A5 AvALAL RUSIR A2l 2 AL,

1. 4-3i 12. 543 13. —i

14. <3l uelalia g + ib 2A3uHL gl :

(3+i5)(3-i5)

(V3++2i)-(\3-iV2)
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5.5 2U0L-s gl 21 yllu 2azu

x-el A p-da dls wiaviidl uUR sievel Sedl vl AeelHi sl aeilx

5 alRdlAs Avaai-dl e25 sHYSA %S (x, p) 1 AAd XY -AHAAHL St [Big Aol w5l i def Ul w4

9. 52 AvUL x + iy L A0 $HYSA WS (x, y) 4 XY-AHdAAL wAeid Big P(x, y) a3 efifalas 2ld saldl
AslA AU XY-Audd-il (big Px, p) < Add ey A5 AL x + iy HOL.

A5 AvAAL FAl §2 +4i, — 2+ 30, 0+ 17, 2 + 0i, — 5-2i 2l 1-2i <L A3 s1Y5d A A sH (2, 4),

(—2.3),(0, 1),(2,0), (=5,-2), 2 (1,-2) < elilbilas d udd BigHl 254 A, B, C, D, E, 24 F

~

gl 5.1 wiealda 8.

D(2,0)

® E (-5,-2) ®F(1,-2)

Yl
2usld 5.1
o U-AUdAAL Ucds [Bled 2idd A5 Aval A1 AdUd s3] ASIA A A$R A¥UdE (complex plane)

Ul AL9[rs Y¥Hdd (Argand plane) 5&14 9.

Y
N
b P(x,J’)
'lxﬂ
<
1 & \X
X< 00,0 r g
A\ /4
Y
2sld 5.2

UB2 8 5 Loleg AHAAML A5 AvUL x + iy AL HIAlS |x + iy = (22 +y2 A GLbig O (0, 0) 4l
P(x, y) 42 2id2 & (duslt 5.2).

x-248 Ul (Bl vild Aold A5 AVAL g+ 0 AZUHL €1 6 e p-28 uAl [Bleatid Add A2 Avl
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0+ ib 2AZUHL €14 B, AL g UHAAUD x- 18 A y- e HUeAsH AUAAS 28 (real axis) AUl SIEUAS A8
(imaginary axis) s&d14 6.

252 AvAL 2= x + iy 2 Al Bidolg A5 AVAL 7 =x — iy A HULs AHAAH] 25N Bigil P (x, y) 27
Q (x, — y) a3 sulcd O,

oillfis Ad Big (x, —y) A Big (v, y) 4 wrdls man wia 20l Wlaleio (mirror image) 84 9.

(2usla 5.3)

Y
A P(x, y)
X € o >X
\C Q(x,-y)
Y
25 5.3
5.5.1 s vl gdld a3 v
N . . _ . ~ . SN (S N N N P(z)
HIZL & A5 AvUL z = x + iy A [Bg P al ealdd . Wl 5 &
2
Y . . N ~N N ~N {
[eauzsd 2utvis OP il doils 7 €9 2t OP o x-ota-il - el 118 0
0
UL vRIL oted (25l 5.4). X <€ 8) >X
wrusl el 5 [y P ol cuelals dvaiiicll sHasd %18
(r, 0) gL 2= A woell asia. (r, 0) < [Blg P el gl 2ux s¢ v
=\ N LSRN ~ ~ ) Y’
9. uel Galotgl 4 (pole) i x-ea-l 4 [e2u-l 218vu 250 5.4

Al UM (initial line) $€190.
el x =rcos 0,y =r sind
. z=r (cos O + i sind). il As AUl gcl'l&l 243Y (polar form) s€ld 8. r=,/x2+y? =|z| 2

Zell Hidis © A 0 3 2 -l SIS (argument 244\ amplitude) 9, d- ASdHl arg z 43 galald 0.

Y Y Y
P P
0 0 0
X' X X '
0 X ) X X W)
P
Y’ Y' Yv

(U] (i) (iii)
205l 5.5 (0<6<2m)
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Y ’ p ¥ Y Y
% 0
X' € 0 >X X' € 0 >X X' € X X! o5 X
0
P P
Y’ Y' Y’ Y’

@) (ii) (iiii) (iv)
wsld 56(-n<0<m)

~

S1SUBL AVUL z 2 0 A AAd O Al A FHd 0< 0 < 21 Hi HA D, dH 9l 21 deilS-L 51 ofloa
WA — 7 < B < el uBL @S wsd Ul O Al BHd —m< 0 < m Al Ay, A4 z AL yua sle's
(principal argument) seald 9. o eyl sldd L €ld dl d Addul arg z A3 E.QL[CHQ\L;.

(gl 5.5. 244 5.6.)

o y A PO
Gelganl 7 ¢ s vl z=1+iy3 A yelld 2a3uni galdl,
B3d : QL5 1 =rcos 0, \[3 =rsind X' € 0 X
a0l 5309 URAALL S, \A
YI
r? (60s26 +5in*0)=4 Bed 3, r=4=2 (URuRLLd A, 7> 0) sl 5.7
cos@:l, sinO:—B,
2 2
o="
3
= no..m
Hidlg geld a3y 2= 2[cos§+lsm§J
A5 AvAL z =1+44/3 A 25l 5.7 Hi ealde .
Beusea 8 ¢ 252 Al — o 3 gl
A8
BSR0L 8+ 252 vl T o el aaguni Sl
et it i s 18 16 1-i3
sl SR ALl =
1+iV3  1+if3 1-i3
~16(1-i3) P(-4,403) X
= —2
1-(iv3) 0
X' X
~16(1-i/3) 0
B 1+3
YV
= —4(1-iV3)=-4+i43 (usli58) 5 5.8

Q5 —4=rcos, 43 =rsin®
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o] 5318 AL Sl 16 + 48 = r2 (cos26 + sin2e)

~

2=64, v2d 5, r=38.

1
all cos O =——, sind = —
2 2

s 2n . . 2%
UM, Hidle Yelli a3y 8| cos—=+isin—

usd 1 2l 2 M wdd 835 A5 AvULAL HIALS 2 512l AL

1. z=—1—i\/§ 2. z=—\/§+i

wad 3 ofl 8 Hi lidd g5 A5 Avalld Yolld 2@3unl $2dl.

3. 1—1i 4. —1+1i 5. —1-1i
6. -3 7. 3 +i 8. i

5.6 [gena uHlsen

Y o\

2Bl [gald AH1500 (A9 R ¢l 2 3qR [AdAs 181 eld2ed $ D> 0 €ld AR dld[asqvl
A8l YR du-il B3e Ul AleAL,

gd 2Rl 12 waellL [gald adlsiddl Qe s34 ¢

a, b, c ARAMS ASIARLSL B A a#£ 0D el ax2+ by + ¢ = 0 .

aoll, WL 5 52— 4ac < 0.

8 2L A5 AvALLRL U Rl dRd[Ls Avaid dslya alEl aslal ¢l W2 GuR wuidiL AHlsaxl
B5e A5 ALAUIRL UR 1AL B,

L _ chEVb?—dac _—btNdac-b’i

2a 2a

~

|‘-v€itt L UAHA Sedlsd Rlaldl 2 ¢ 5 510 url uHlsRA Sedi ol Hal ? v Ued Al

wida 3 ollyaldid-l yaeid YHA (Fundamental theorem of Algebra) 4315 %Rlldl © d- (uletdl

LWL A1) <iHleL.

“opgugly AL50UA LOLHL 24169 A5 ofly HAl.”
L uRAAL wReuH voer % Gualall g 1 uselg ulkeud wa © :

“neldalal sigueld A5 1 ol Hol 9.7
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GEISRWA 9 : G3AL: 2+2=0

Bse : el x2+2=0

AL 2 =—202d §, x = £+/—2 = £/2i.
GElSWA 10: BEAl : x2+x+ 1=0

Bse s dl, B2—dac=12-4x1x1=1-4=-3

o —1+/-3  —1+4/3i

2x1 2

N ~

> Yol B3dl U4l

BewsR 11 : B3el: 5x2 4 x4++/5=0

Bia o 2l 2uld AHlseAl Bdas
2—4x:/5x5 =1-20=-19

uidld Bl mES 2 [F] 29l
25 25 '

AU 5.3

AlAAL w50 GEAl -

1. x2+3=0 2. 2x2+x+1=0 3.x2+3x+9=0
4, —x2+x-2=0 5. x2+3x+5=0 6.x2—x+2=0
7. N2 4x+02=0 8. Bx2-2x+3/3=0

9. x2+x+%:0 10. x2+%+120

5.7 s dvad iy

AL Aol usl s ol azl dotl [Gand 20w Gia-l 2l 530, 21d] 2ul

-~

UHIRIA R€3UML saldd A5 Avdlsd @iy albaldl R uBal agldlal, »1ud da Gelsdl gl e
ESIETR
BELSRBL 12 1 =7 — 24i < Adlyu 2l
B5a: MRS x4+ iy =-7 - 241
(x+iy)* = -7 - 24i

L x? - y® +2xyi = -7 — 24i

arRdlds ool 244 sieulHs el UvuddL,
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X2—y2=-7 (D)

2xy =24
[Hﬁ{u%(xz + y2)2 = (x2 - y2)2 + (2xy)2 <Al GualaL s,
(x2+y2)*= 49+576
(x2+y2)* = 625
WM, x2+)2=25 .(2)
(1) 2 (2) u=ell, x2=9 211 32=16
§WAYL x=+3Aly=+4
SR xp 8L glatell,
x=3,y=—4¥Qdl,x=-3,y=4
WM, —7 —24i -l WA 3 —4i w1 -3 + 4.
QA 9l :

1. —-15-8i 2. —8—6i 3.1—i 4. —i

5.1 6. 1+i

uslel Gelsel

o <. (3-2)(2+30)
BELSRBL 13 ¢ triolg AS AvAL WAL A1202—1)

(3-2i)(2+3i)

B3 @ el 120 (2—1)

6+9i—4i+6
2—i+4i+2
12+5i 4-3i

= X
443 4-3i

48 -36i+20i+15
- 1649
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_ 63-16i
25

63 16,

———i

25 25

(3-21)(2+30)

25 25
Gels20l 14 ¢ 1Al A5 VAL HIALS 244 SIS QAL :
015 R
sl T T T T 1+1 -

¢d, 0=rcos 0, 1=rsind
a0l 530 AAIL 2l 2= 1224 5 r=1

cos 0=0, sind =1

i
oo 0=—
2
< 1+ . P |
Hig, = «ll Hidls 1 2 58S — €9,
1-i 2
1 1-i I-i 1 i

(=<l T avna—n 141 2 2

NS

1
HIRL 5, 5= r cos 0, — 5 =r sin®
GuR (i) WHIRl-L WAL Sl r = L; cosO = i, sin® =
2 2
a3, — <L s = w1 Salis =%
" 1+i V2 4

a+ib
a—ib’

GewsW 15: A x+ iy = dl Alld 520 5 x2+y2=1.

(a+ib)(a+ib)  a2-b2+2abi  a2-b2

Sl

-~

1 i 6316
(1+2i)(2—1) Al 4ol ASR AL L.

2ab

B34 wel, x+iy=

a*-b>  2ab .
a?+b? a?+b?

Xx— iy =

= — + |
(a—ib)@+ib) ~  a2+b2 a21b? a24b2
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> : o (@=bD?  da®?  (a24D?)2
SXEY == 2y T (222 T e !

-~ 3+4+2i sinb . N o -
GELSRBL 16 : % ———— Ug ARAAS AvaL €, dl dRdlds 6 LMl
1-2i sin®
CECIRETY

3+2isin®  (3+2isin0)(1+ 2i sind)
1=2isin® — (1—2isin®)(1+ 2i sinb)

3+6isin0+2isin0—4sin20  3—4sin20  8i sind
= = +
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sin 0, 212d % sin® =0
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2 2
~ 2(1’—1))(1—\/51'
143 1-+3i
2(i+ﬁ—1+\@i)
- 1+3
NEESS BV
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2 2
d, \/32_1=rc0s 0, %=rsin 0 dl.

ol 530 ARALL S,

A e

2 2 7 7

2
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SIS UBL 6L 252 AL z) VA zyHI2 A S35,
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Re (z, z,) = Re z| Re zy — Imz, Imz,

1 2 \(3-4i) . . .
- o}
1—4i 1+i 54 " WHLUBLA AZUHL ’-LSL

w0

a—ib

c—id

o x—iy=

=

c“+d

{12 2Avauiia Yellu 2@a3uni 324l

N

LT 143
0 (aiy i 15

Y, 6 4l 9 AL s w50 B3l :

2 20

6. 3x“—-4x+—=0
3

7. x2—2x+§=0
2

8. 27x2—10x+1=0

9. 21x%2-28x+10=0

. LAt
10, %z =2—iz=1+id |——"| .
21_22+1
2 2
. Wat+ib= 2x2+1,dla —(2x2+1) Allold s,

12. HIRL S, Zl=2—i, ZZ=—2 + i

. Z,z .. 1
(i) Re[lsz] (ii) Im [;] ey
1”1

\ \ NN 2 2+b2
1, L AUBLd S 5 (x2 +y2) =E2—2.
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. 1+2i . . N
13, As Av ﬁ AL HiLS dal 58S AL
— a1

14. % (x — iy) (3 + 5i) 3L —6 — 24i <ll 2A-iolg A5 AvUL €Y, dl ARA[LS A1 x 24 p 2L
1+i 1-i

15. 1—i 1+i <AL HIALS 2L

by ~ ~ NN u v 2 2
16. %A (x + iy =u+ iv S14, dl oldldl 5 ;+;=4(x -y9).

p-a

1—ap| il Bud 2t

17. % ocisl Bt [ s vzl €ld dal Bl =1, dl

18, adlsam [1-i[ =2 - grid2 yails Bieledl v ol
19. A (a+ib) (c +id) (e + if) (g + ih) = A+ iB, &4 dl, oldldl %
@+ 1) (@+ ) (@417 (&+ 1) = A2+ B2

m
1 + l N d NN
20. [ﬁj =1 oy ddl m L Yrtau yals Bud e,

ARIA

@ Ul a A b ARAS Aval O ddl @ + b UsIRHL AvALA A5 AvAUL SSUU 9. g A WS AvALAL

NN

ARAlAs oL dal b A d-l sleulss ML sealy 69,
QHURL S zy=a+ibd z,=c+id, d
(i) zy+z,=(a+tc)+i(b+d

(i) z,z, = (ac — bd) + i (ad + bc)

a 9 NN N
@ £35 AR AS AV a+ib (a# 0,5 # 0) L A3 A5 vl T3 7 +i 22 RAc H1d 9 5,

a i —b
i
a2 +b2 a2 +b2

(Y

N A A NN AN A 1
]=1+i0=1.¢l"l z=a+ib -l A $€ &9 dUl d-l AS5d — wYal

Z

39l (a + ib) (
el saulan 9.
oSS ua yals kwe, =1, M= M= AR

N —

@352 vl z =g+ ib ~{l 2iolg s AvAL (B ¥ T R salad B) T =a—ib.

@ A5 40Ul z = x + iy | 4clld AU 7 (cosO + i sin®) O, UL = \[x2+ y? (z -l W) A cosh =

b

N | =

)

i) = 2 (0 ¥z -l s12ls5). %16 <l Bud vidld —m <0 <UL €A dl dd z <L Hud S1ls sE ©.
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@ 7 Ao olgugld A58 1 ol WAL B,
% b2—4dac <0 1 cl [geld AHsW ax® + bx +¢ =0, a, b, ce R, a=0 -l ollx

—bi«/4ac—b2i 5

2a

X =

Historical Note

The fact that square root of a negative number does not exist in the real number system was recognised
by the Greeks. But the credit goes to the Indian mathematician Mahavira (850) who first stated this
difficulty clearly. “He mentions in his work ‘Ganitasara Sangraha’ as in the nature of things a negative
(quantity) is not a square (quantity)’, it has, therefore, no square root”. Bhaskara, another Indian
mathematician, also writes in his work Bijaganita, written in 1150. ““There is no square root of a negative
quantity, for it is not a square.” Cardan (1545) considered the problem of solving

x+y =10, xy=40.

He obtained x=5+ /_15 andy =35 — /=15 as the solution of it, which was discarded by him
by saying that these numbers are ‘useless’. Albert Girard (about 1625) accepted square root of
negative numbers and said that this will enable us to get as many roots as the degree of the polynomial
equation. Euler was the first to introduce the symbol i for \/_1 and W.R. Hamilton (about 1830)
regarded the complex number a + ib as an ordered pair of real numbers (a, b) thus giving it a purely
mathematical definition and avoiding use of the so called ‘imaginary numbers’.
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